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NPABUNA 3KCIMITYATALUN U TEXHUYECKOIO OBCNY>XUBAHUA

3 4 % & 5* 64 4 & % $3
$3 3 5" % %
0 3 7 5" %3 47 8
% & & %3 % % 8 $
67
-9 % 8 % %3 $8 7 8
7 % % & %% 8
2 z 5" 7 8 3 4 6 8 %
8 6 5" 3 4 $3
/ #&$ 111 % %3 8 & 3 8% $3 5"
< 5" 4 7 $3 3 $ 3 57 &
% $ 8% $
= 5" 4 64 8 % % 8 $3 %7 8
% 8 5%
% 5%> 8 4 ? 86 $ 67 @ 6
FAPAHTUMNHBIE OBA3ATENLCTBA
. (CCA 5 B % 6 % 5 4 .0
z 4 7
8 % 8 & 8 % $ 57
% 6 4 8 8
4 & CC
0 D6%$ 6 8 4 8 % 4
86 7 5*
- E 8 % 5 $ 3 67
4 $ % 8 4 %$ 8 & $ 7
3 4 3 5" 6 % F(5 G2.//011/> OH# ((< 1 //?
% 3 4 & 6 A(% @ $3 $3 B>G 5
1.C01..?
5% : C
CBUOETENBbCTBO Ob YCTAHOBKE
TCY 93117-E YcTaHOBMNEHO Ha aBTOMOOUIIb:
] IE 8 KT
LI 7 5" & 4 4 5"
% & 4 6 % 3% &
] [ | 8
(C(CA 5 B .M;11; 5 % # -

C>C.0?/;/ 2C M1 NNN OP(PRPS TSP




CXEMA YCTAHOBKMU

9
0
77
# &
" [u wiLmM--wccicxi-1 |. = U Y % wiL.0/Z.0
= F VKL MC/ ¥ .03. =/
Y % VKL M10. Z 1cfo C %f‘ b 0
k\gﬂ F VKLM?ZlC . M o " lU WKL M;. .2X./X-/CC |2
U  WILM--WCC = |Y % F VAL .0=Z.2
» Z.0X121X. =/ -1 > 2
= (Y % F VAL .0= Y % VKL M10. Z .2
€D |-, 2 . 4 2
Y %4 VL M10- Z -0, .0 U  WKLM--WCC .1X101
> 4
| & 8% $3 4 ccC
< 8 % 1 & < I< 8 % 1 & <
8% 8%$p
.1 2/ .2 .00
.0 == ; .C/
NnoPAOOK YCTAHOBKU
5" 8 8 : $3 4 $3 3
8 3 & % & - 67
-1
8% $ $ $ 8% $ 7 % ¥ .23-/3./ %
.2
3 8 8 & $ 8% $
7 % 1.0321 % % .0
8% 5" & % $ 7 % 1.0321 1.0 %
8 8 @ 8 7 8 @% 1.1301 %
8
8 0& $ $ %3 $
8 &



